AN T RF =4 b 1 = = o
SH2EE 1xFEIHRBEZEERREE
6HA1H(A) 6A2H () 6 A3H (/K)
1R 2[R 3R 1R 2[R 3[R 1R 2[R 3R AR 508 6 R 7R
8:50—-TH10 9:55-10:45 11:00-03:50 8:50-2:10 9:55-0:45 11:00-03:50 8:50-4:10 9:55-10:45 11:00-03:50 12:00-12:40 | 13:15-13:55 | 14:05-14:45 | 14:55-15:35
FEE
15 EEHREB H=E1 0 | HFA (,Ji”;ij‘f}%&gu) == (K1) =% (K2) =% (Kk3) =% (K4) %= (Kk5) %3 (K6) =EOK7) 14F
148 HAREB 148
2#H 248
M| x /%i%% 3+
% IR HHB " XB
5 4%8 iéﬁi\%ﬁﬂ *@ ' N ' _ _ _ _ _ _ |
gy #FB O32 %1 HFEI REOK2) =% (Kk3) REOK4) | BBEOKB) | &FEOKS) | ®&E(K7)
F 548 (WA= HY) 548
6N %R HAFB L EA
/B
*H I8 2 HR IR 3
6IHIE R - (HR) T A g e K1) 6HHIER
% *© o
748 == 748
FHEERRE
14 %
#H /%EEHJZIKE 148
/ Hhi
2 FEk#F1IB th = B FE SR R %E@ . 28
/i F =R /e B E e ERBFIA AW EIEE
3% (HR) (HR) Ui . 4
£ / 5
3 B RERET =EEE 3 HRERS BEOKk4) | BEOKS) | BEGke) | BEOKT)
F s (WARZ2THY) /RERAE
oH RN /BRI oH
/REEER *6)
64H * @ 648
e =3 (K 3)
7% Ky 24 Ky 25 %
I A lla - /SR 5 b W3R /4 ) 7#
*1 2—2345 HARABBHEIIIHISR) — 2—5 *2 2—67 YEFEISR) — EIRO *® 3—12456 EEHRPL(XHITR) — 3—1
2—23 BHASEBEIEITX) 2—2 2—67 EWMEHERIZR) — 2—7 3—12 EEAAR(BISR) — 3—2
2—45 BAEB(EMNITX) 2—4 3—456 REBAR BaEITRX) — 3—5
2—2345 #EB(EHISR) — EIR1 3—456 EEBAAR (WMEYIZRX) — 3—6
*Q@ 3—1578 MmE(¥EMEISTA) — 3—1 3—12456 HFEMBE(ZEYIRX) — 3—4
3—23 RIB(LEEYSR) —» 3—2 3—124 RREE-EREERERE - HEEEE)
* @ 3—56 HFEFRHGEEISR) — EIRS 3—15 BUA-BFBBIZR) — 3—5
3—56 HEIBEFAHGEHIZRX) — 3—5 3—23 B ##EF(BAEITR) — 3—3
3—56 EEFRH(KAISR) — 3—6 3—46 BUA-BF(BBITR) — 3—6
3—15 EEFA(HRISR) — ER4
*@ 3—78 HEFMa(BRF-ELAKISR) — FEIR9 3—23 HREIEH (FWRITR) — #EIRS
ZEnd 35 3—78 HEHF(RE-BAIZRX) — 3—7 3—46 HEHRA(REISR) — 3—4
SER LIS 3—78 EEH#(XBIZR) — 3-7
3—78 BB (HEZYISA) — 3—8
*@ 3—78 HFEMb(ELKK-BEHITR) — FEIRO
3—78 WRA#ZF(EBE-REVZR) — 3—7
BHICEROLZVLE B IXFEHRTRER




